Economics II - Test #1, October 22, 2008

Var. A

1. [2 points]
P, =4CIZK, P, =6 CZK, I = 48 CZK

1. Write down the equation of budget line with the given data
2. Depict this on the graph; label the axis and put number to intersections with axis

3. Depict a new budget line after change in price of y to P, = 12

1. Pe+Pyy=1 = 4x+06y=48




2. [1 point]

Demand for z is given by function: z = 100 — 3(P,)?

e (Calculate the price elasticity if P, =4

Po=4 = 2=100-3(P,)%=100—3x 42 = 100 — 48 = 52
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r=100-3(P,)* =
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